

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO SLE 9833K

	REPLACEMENT OF PARTS				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	FRONT BUMPER	BENT	\$852.10	\$852.10	
1	FRONT BUMPER LOWER LID	DISTORTED/CRACKED	\$381.00	\$381.00	
1	FRONT BUMPER LOWER GRILLE	CRACKED	\$189.00	\$189.00	
1	FRONT BUMPER REINFORCEMENT	BENT	\$385.00	\$385.00	
1	FRONT BUMPER TOW COVER	MISSING	\$19.00	\$19.00	
2	FRONT BUMPER SIDE RETAINER @\$38.00	CRACKED	\$76.00	\$76.00	
2	FRONT BUMPER FOG LAMP @\$327.70	O/S MISSING	\$655.40	\$327.70	
2	FRONT BUMPER FOG LAMP GARNISH @\$112.50	O/S MISSING	\$225.00	\$112.50	
1	FRONT BUMPER CAR PLATE MOULDING	NO SUCH PARTS	\$124.20	\$0.00	
1	MAIN WINDSCREEN	CRACKED	\$1,335.00	\$1,335.00	
1	MAIN WINDSCREEN MOULDING	NECESSARY	\$180.00	\$180.00	
1	RADAR SENSOR	SERVICEABLE	\$1,380.00	\$0.00	
2	FRONT FENDER @\$596.80	N/S TO REPAIR SEE LABOUR / O/S BENT	\$1,193.60	\$596.80	
2	FRONT FENDER ARCH GARNISH @\$189.50	BUCKLED	\$379.00	\$379.00	
2	HEADLAMP @\$1782.50	CRACKED/BROKEN	\$3,565.00	\$3,565.00	
2	HEADLAMP LOWER BRACKET	CRACKED	\$89.50	\$89.50	
1	FRONT RADIATOR GRILLE	CRACKED	\$421.00	\$421.00	
1	FRONT RADIATOR GRILLE CHROME MOULDING	NECESSARY	\$385.00	\$385.00	
1	FRONT RADIATOR GRILLE "HONDA LOGO" EMBLEM	NECESSARY	\$48.90	\$48.90	
1	HORN	SERVICEABLE	\$102.30	\$0.00	
1	BONNET	BUCKLED	\$922.00	\$922.00	
2	BONNET HINGE @\$48.90	DISTORTED	\$97.80	\$97.80	
1	BONNET LOCK	BENT	\$122.00	\$122.00	
1	BONNET LOCK BRACKET	CRACKED	\$65.00	\$65.00	
1	BONNET INSULATOR	CRACKED	\$122.90	\$122.90	
1	FRONT SUPPORT TOP PANEL	BUCKLED	\$711.00	\$711.00	
1	FRONT SUPPORT PANEL TOP GARNISH	MISSING	\$185.50	\$185.50	
1	DASH BOARD ASSY	SERVICEABLE	\$655.50	\$0.00	
1	AIR CON CONDENSER	BENT	\$750.20	\$750.20	
1	RADIATOR	SERVICEABLE	\$1,298.00	\$0.00	



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

	REPLACEMENT OF PARTS			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
2	RADIATOR BRACKET @\$25.00	DISTORTED	\$50.00	\$50.00
2	RADIATOR SIDE GARNISH @\$78.50	CRACKED	\$157.00	\$157.00
1	RADIATOR FAN MOTOR ASSY	SERVICEABLE	\$620.00	\$0.00
1	REAR BUMPER	BENT	\$786.20	\$786.20
2	REAR BUMPER SIDE RETAINER @\$49.00	CRACKED	\$98.00	\$98.00
2	REAR BUMPER REFLECTOR @\$121.00	SERVICEABLE	\$242.00	\$0.00
2	REAR BUMPER SIDE @\$215.50	BUCKLED	\$431.00	\$431.00
1	REAR BUMPER UNDER COVER	SERVICEABLE	\$241.50	\$0.00
2	REAR FENDER @\$858.00	BUCKLED/BENT	\$1,716.00	\$1,716.00
2	REAR FENDER INNER TRIM @\$365.80	DEFORMED	\$731.60	\$731.60
2	REAR FENDER ARC GARNISH @\$172.00	BUCKLED	\$344.00	\$344.00
1	TAIL GATE	BENT	\$998.30	\$998.30
2	TAIL GATE REFLECTOR @\$335.00	SERVICEABLE	\$670.00	\$0.00
1	TAIL GATE LOCK	DENTED	\$321.00	\$321.00
1	TAIL GATE LOCK CATCH	DISTORTED	\$45.80	\$45.80
1	TAIL GATE INNER TRIMBOARD	BUCKLED	\$198.50	\$198.50
1	TAIL GATE INNER BOARD POCKET HANDLE	SERVICEABLE	\$45.00	\$0.00
1	TAIL GATE WIPER MOTOR	SERVICEABLE	\$268.00	\$0.00
1	TAIL GATE "VEZEL" EMBLEM	NECESSARY	\$58.00	\$58.00
1	TAIL GATE "HONDA LOGO" EMBLEM	NECESSARY	\$45.00	\$45.00
1	TAIL GATE OUTER GARNISH	SERVICEABLE	\$265.70	\$0.00
2	TAIL GATE SHOCK ABSORBER @\$199.00	SERVICEABLE	\$398.00	\$0.00
2	TAIL LAMP @\$485.00	CRACKED	\$970.00	\$970.00
2	TAIL LAMP PANEL @\$165.00	BENT	\$330.00	\$330.00
1	REAR END PANEL	BENT	\$623.00	\$623.00
1	REAR END PANEL TOP GARNISH	DENTED	\$198.00	\$198.00
1	REAR FLOOR PANEL	BENT	\$1,025.40	\$1,025.40
1	REAR FLOOR PANEL UNDER COVER	BUCKLED	\$241.50	\$241.50
1	REAR FLOOR PANEL TOP COVER	DENTED	\$269.90	\$269.90
2	REAR SHOCK ABSORBER @\$385.00	SERVICEABLE	\$770.00	\$0.00
1	REAR AXLE BEAM	SERVICEABLE	\$1,650.00	\$0.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

REPLACEMENT OF PARTS				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
2	REAR WHEEL BEARING @\$263.50	NOT NECESSARY	\$527.00	\$0.00
1	REAR EXHAUST SILENCER	BENT	\$598.74	\$598.74
2	REAR EXHAUST SILENCER MOUNTING @\$35.00	TORN	\$70.00	\$70.00
	LESS 20.00% DISCOUNT		(\$6,584.01)	(\$4,525.17)
		\$26,336.03	\$18,100.67	

	Special	Nett		
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	TAIL GATE WEATHERSTRIP (SN) (\$298.00) (50%)	DENTED/DISTORTED	\$238.40	\$149.00
1	FRONT NUMBER PLATE & HOLDER (SN)	DENTED	\$70.00	\$45.00
1	SET FRONT BUMPER CLIPS (SN)	NECESSARY	\$50.00	\$50.00
1	SET FRONT FENDER INNER SHIELD CLIP (SN)	NECESSARY	\$40.00	\$40.00
1	FRONT AUDIO PLAYER (SN)	SERVICEABLE	\$550.00	\$0.00
1	SET BONNET INSULATOR CLIPS (SN)	NECESSARY	\$30.00	\$30.00
1	REAR TYRE RH (SN)	SERVICEABLE	\$320.00	\$0.00
1	SET REVERSE SENSOR (SN)	DENTED	\$250.00	\$200.00
1	REAR NUMBER PLATE & HOLDER (SN)	CRACKED	\$70.00	\$45.00
1	SET REAR BUMPER CLIPS (SN)	NECESSARY	\$50.00	\$50.00
1	SET REAR END PANEL TOP GARNISH CLIPS (SN)	NECESSARY	\$15.00	\$15.00
1	REAR END PANEL SEALANT (SN)	NECESSARY	\$40.00	\$30.00
1	REAR FLOOR PANEL SEALANT (SN)	NECESSARY	\$60.00	\$30.00
1	REAR REVERSE CAMERA (SN)	SERVICEABLE	\$400.00	\$0.00
1	SET REAR FENDER INNER TRIM CLIPS (SN)	NECESSARY	\$80.00	\$80.00
1	TAIL GATE CHROME TRIMMING (SN)	SERVICEABLE	\$150.00	\$0.00
1	TAIL GATE WINDSCREEN SEALANT (SN)	NECESSARY	\$60.00	\$40.00
1	SET TAILGATE INNER TRIM BOARD CLIPS (SN)	NECESSARY	\$60.00	\$60.00
1	TAIL GATE REMOTE BUZZER (SN)	SERVICEABLE	\$95.50	\$0.00
			\$2,628.90	\$864.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

Labo	ur		
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted
TO DISMANTLE, REPLACE, CUT, WELD, KNOCK OUT DENTS TO STRAIGHTEN ACCIDENT DAMAGED PARTS. INCLUSIVE OF THE REPAIR OF FRONT FENDER N/S		\$1,800.00	\$1,800.0
REMOVE & REFIX DASHBOARD AND INTERNAL WIRING		\$300.00	\$0.
REMOVE & REPLACE FRONT RADAR SENSOR & CONDUCT DISTANCE SAFETY SETTING		\$200.00	\$80.
REMOVE & REFIX AIRCON CONDENSER AND REFILL AIRCON GAS		\$120.00	\$100.
REMOVE & REFIX RADIATOR, TOP UP COOLANT & CONDUCT PRESSURE TEST		\$90.00	\$50.
REMOVE & REFIX TAILGATE WINDSCREEN GLASS		\$120.00	\$120.
REMOVE & REFIX / REPLACE REAR BUMPER REVERSE SENSOR & CONDUCT DISTANCE SAFETY SETTING		\$70.00	\$50.
REMOVE & REFIX / REPLACE REAR REVERSE CAMERA & CONDUCT DISTANCE SAFETY SETTING		\$70.00	\$40.
REMOVE & REFIX / REPLACE REAR EXHAUST SYSTEM		\$90.00	\$60.
TRANSFER OF EXISTING TAILGATE MECHANISM TO NEW TAILGATE		\$90.00	\$60.
REMOVE & REFIX / REPLACE REAR UNDERCARRIAGE WORK		\$350.00	\$200.
TO CONDUCT WHEEL ALIGNMENT		\$100.00	\$60.
TO CONDUCT REAR CHASSIS ALIGNMENT		\$250.00	\$250.
CONDUCT WATER LEAK TEST FOR REAR PORTION ASSOCIATED REPAIR WORK		\$40.00	\$20.
WIRING / BULB CHECKING / FOCUSING		\$100.00	\$40.
TO PUTTY & SPRAY PAINT ACCIDENT DAMAGED PARTS AND ADJACENT PANELS		\$2,000.00	\$2,000.
		\$5,790.00	\$4,930.
GRAND TOTAL		\$34,754.93	\$23,894.6
RECOMMENDED COST OF LUMP SUM REPAIRS (TO ITS PRE-ACCIDENT CONDITION)			\$15,800.0

MARKET VALUE: \$30,000.00 (EST)-LTA REIMBURSEMENT VALUE: \$13,613.00=NETT VALUE: \$16,387.00

Report Ref No: CS/FCI24060172/Knh3e2

KSC

KENNETH KONG SENG CHEONG



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of reposibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.